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o 1.2
= [
g L
| R TR PR CE D .
%) L
c [
2 L
‘é’ (0| S e s R
© L
ox-w-"' M I LA I
g ELLHE
oH
0. . . .
0 0 20 30 40 50 60
TP hits
—=— DQM_mkFit_TT_baseR3_noSel_ok
—e— DQM_mkFit_TT_base_8iter_noSel_ok
[Efficienc] —— DQM_mkFit_TT_Retrainv2_siter_noSel_ok
) .8
g
& 0.
[
>
20
c
o
S Q.5 +- 4
@
0.4
0.3] i
L
8
@ 1.05F----TF--F{-F4-:
o
0.95F - -+
20 25
TP layers

Efficiency vs pixel layer

efficiency vs pixel layers

0.5

© o

o
S N O w 2 »

0.1!

0O 1 2 3 4 5 6 7

8

TP pixel layers

Efficiency vs 3D layer

efficiency vs 3D layers

Ratio

0.8

o

o
o

o

I
»

o

0 2 4 6 8 10 12 14 16 18 20

TP 3D layers




	Contents
	Page 1


